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1. BEEHROR
(1) #BEIE
HARMEERE 1,200, 000 0 1,200, 000
SIEFMEIRELE 0 0 0
ZMEE 180, 900 530, 000 710, 900
ZMETE 61, 841,000 0 61, 841,000
SMERE - IS 8, 336, 000 0 8, 336, 000
ZmAEE 1,361,100 0 1,361,100
ZHEHE 400, 000 0 400, 000
MR 1,000 0 1,000
REUNEEE 13,320, 000 530, 000 13, 850, 000
Q)?%%ﬁ
2 =1
?A'—:T- 2,901, 000 0 2,901, 000
EREN 1, 859, 000 0 1, 859, 000
BEFH 1, 804, 000 0 1, 804, 000
EERANE 900, 000 0 900, 000
BIELE 97, 000 20, 000 117, 000
ﬁﬁ%% 0 30, 000 30, 000
=& 0 20, 000 20, 000
FRARVEEH 0 100, 000 100, 000
wBBE 0 80, 000 80, 000
EHE 0 30, 000 30, 000
ﬁfﬂﬁ 0 30, 000 30, 000
B 0 220, 000 220, 000
HE 0 0 0
EIBEE 7,561,000 530, 000 8,091, 000
= E 3 =1
faf=a 2,218,000 0 2,218,000
BEFH 1,078, 000 0 1,078, 000
B 0 0 0
REN 673, 000 0 673, 000
EERNNE 485, 000 0 485, 000
ﬁﬁ% 27,993, 000 0 27,993, 000
?*% 1,434,000 0 1,434, 000
R& 5, 327, 000 0 5,327,000
ﬁﬁﬁﬂ&v‘ = fE At 2,097, 000 0 2,097, 000
WEE 9,175, 000 0 9,175, 000
E’]Eﬁf 5,994, 000 0 5,994, 000
Kuﬂz O 0 0
FEH 6,512,000 0 6,512, 000
HE 214,000 0 214,000
MHAER 2,499, 000 0 2,499, 000
BXEEE 65, 759, 000 0 65, 759, 000
REEA 73,320, 000 530, 000 73, 850, 000
LR EISELE 0 0 0
2. RBEMNMEFDOE
(1) #BENIRE
ATHAERIEIE 0 0 0
EE SRR ET 0 0 0
(2) BENER
ATEAIE RIS IESR 0 0 0
BENE R 0 0 0
SIREMEREE 0 0 0
LERRE ML R 0 0 0
L HA— % IF BRBF EEIRRER 0 0 0
—RERMEHERS 18,431,121 0 18,431,121
— R ERBIEHRES 18,431,121 0 18,431,121
I {5 IERREEEB O
— R FREIE~DIREEE 0 0 0
LHATETE IE KB EE IR RER 0 0 0
EBEERMEHEERS 200, 000, 000 0 200, 000, 000
BEERMERRES 200, 000, 000 0 200, 000, 000
I ERBEHERES 218,431,121 0 218,431,121




